Sits Instrukcja montazu Montageanleitung ALVA
— comfortabl ife Assembling Instruction Tfinstruction de montage
K
(m] O ]
1 1 :
i i o o o
| 5] O
(m] O
[m] [m] (m] [m]
=) N
WSI M8x30 WSI M8x60 S5
A x2 B x2 Cx1

= u—

1

ALVA 2020-06



B1 No 109

"(f((((((///(((«//(((/((((((/((~ g

WW M8x80
D x1

S|M M8X11O
E x1

- O

8,4x17x1,7 < »
o oS H x1

2

Y

2X

E F

' \/f’tc\\ G
704

S

ALVA  2020-06




C1

No 153

145

i

245/32

H

O

30
x1

3

ALVA 2020-06



rm««mr(««r(«(@ @

WSI M6x40 S4

J K L

Zachowaj instrukcje / Please keep instructions / Bewahren Sie die Anleitung / Merci de garder linstruction

4 SITS Sp.z 0.0. ,ul.Sikorskiego 60 , 87-300 Brodnica , POLAND

ALVA 2020-06




